
§·¤æ§ü / Unit-I

1. âæ¢çBØ·¤è @Øæ ãñU? âæ¢çBØ·¤è ·¤æ ÿæð˜æ, ©UÂØôç»Ìæ
ÌÍæ ÂçÚUâè×æ°¡ SÂcÅU ·¤èçÁ°Ð

What is Statistics ? Explain the scope, utility
and limitations of Statistics.

¥Íßæ / OR

KJ-1207
B.Com. (Part - II)

Term End Examination, 2020

Group - C

Paper - I

Business Statistics

Time : Three Hours] [Maximum Marks : 75

ÙôÅU Ñ âÖè ÂýàÙæð´ ·ð¤ ©UîæÚU ÎèçÁ°Ð âÖè ÂýàÙæð´ ·ð¤ ¥¢·¤
â×æÙ ãñ´ UÐ Üƒæé»‡æ·¤ âæÚU‡æè °ß¢ »ýæÈ¤ ÂðÂÚU ×æ¡»Ùð ÂÚU
çÎØæ Áæ°»æÐ

Note : Answer all questions. All questions carry equal
marks. Log Table and Graph Paper will be
supplied on demand.
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ØçÎ çÙ`ÙçÜç¹Ì ¥æßëçîæ Õ¢ÅUÙ ·¤æ â×æ‹ÌÚU ×æŠØ
x® ãñU, Ìô ¥™ææÌ ¥æßëçîæ ™ææÌ ·¤èçÁ° Ñ

ß»ü ¥æßëçîæ

®-v® z

v®-w® {

w®-x® v®

x®-y® ?

y®-z® vx

Find out missing frequency in the table, if

Mean is 30 :

Class Frequency

0-10 5

10-20 6

20-30 10

30-40 ?

40-50 13

§·¤æ§ü / Unit-II

2. çÙ`Ù ¥æ¢·¤Ç¸Uæð´ âð Âý×æÂ çß¿ÜÙ ÌÍæ çß¿ÚU‡æ »é‡ææ¢·¤
ÂçÚU·¤çÜÌ ·¤èçÁ° Ñ

×êËØ âð ¥çÏ·¤ |® {® z® y® x® w®

¥æßëçîæ | v} y® y® {x {z

( 2 )
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( 3 )

Calculate coefficient of variation and Standard

Deviation from the following data :

Value more than 70 60 50 40 30 20

Frequency 7 18 40 40 63 65

¥Íßæ / OR

°·¤ Èé¤ÅUÕæòÜ â˜æ ×ð´ Îô ÅUè×ô´ A °ß¢ B mæÚUæ

çßçÖ‹Ù ×ñ¿æð´ ×ð´ ç·¤° »° »ôÜô´ ·¤è â¢BØæ çÙ`Ù

Âý·¤æÚU Íè, ÕÌæ§° ·¤õÙ âè ÅUè× ¥ÂÙð ÂýÎàæüÙ ×ð´

¥çÏ·¤ â¢»Ì ãñU?

°·¤ Èé¤ÅUÕæòÜ ×ñ¿ ×ð´ ç·¤° »° ¹ðÜð »° Èé¤ÅUÕæòÜ
»ôÜô´ ·¤è â¢BØæ ×ñ¿æð´ ·¤è â¢BØæ

ÅUè× A ÅUè× B

® w| v|

v ®~ ®~

w ®} ®{

x ®z ®z

y ®y ®x
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( 4 )

The following table gives goal scored by two

teams A and B in a football season. Find the

team which is more consistent in its

performance :

No. of Goals scored No. of Football

in a Football match matches played

Team A Team B

0 27 17

1 09 09

2 08 06

3 05 05

4 04 03

§·¤æ§ü / Unit-III

3. çÙ`Ù ÂýÎîæ âê¿Ùæ ·ð¤ ¥æÏæÚU ÂÚU ÂÎæð´ ·¤è â¢BØæ

(N) ™ææÌ ·¤èçÁ°, ÁãUæ¡ x ÌÍæ y ¥ÂÙð-¥ÂÙð

×æŠØô´ âð çß¿ÜÙ ãñ´UU Ñ

r = +.5, xy = 120, x2 = 90, y = 8
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On the basis of the information given below
find the number of items (N), where x and y
are the deviations from their respective
means :

r = +.5, xy = 120, x2 = 90, y = 8

¥Íßæ / OR

ÂýÌèÂ»×Ù âð ¥æÂ @Øæ â×ÛæÌð ãñ´U? âÚU Èý¤æ¢çââ
»æËÅUÙ Ùð ç·¤â ©UÎæãUÚU‡æ ÂÚU ÂýÌèÂ»×Ù ·¤æ
çßàÜðá‡ææˆ×·¤ ¥ŠØØÙ ç·¤Øæ? ÂýÌèÂ»×Ù çßàÜðá‡æ
·ð¤ Âý·¤æÚU Öè ÕÌæ§°Ð

What do you mean by Regression ? On which
example Sir Francis Galton has analysed the
Regression ? Also explain the kinds of
Regression.

§·¤æ§ü / Unit-IV

4. ÚUæØÂéÚU ·ð¤ °·¤ ×ŠØ×ß»èüØ ÂçÚUßæÚU ·ð¤ ÕÁÅU ·ð¤
â¢Õ¢Ï ×ð´ çÙ`Ù âê¿Ùæ ™ææÌ ãñU Ñ

¹æl ÂÎæÍü ç·¤ÚUæØæ ·¤ÂÇ¸Uæ §ZÏÙ çßçßÏ

ÃØØ y®' w®' vz' v®' vz'

·¤è×Ìð´ (w®v®) v®® y® {® w® z®

·¤è×Ìð´ (w®vw) vz® {® |z wz }®

w®v® ·¤è ÌéÜÙæ ×ð´ w®vw ·ð¤ ÁèßÙ-çÙßæüãU ÃØØ
¥æ·¤Ç¸Uô´ ×ð´ @Øæ ÂçÚUßÌüÙ çÎ¹æ§ü ÎðÌð ãñ´?
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An enquiry into the budget of the middle-

class families in Raipur gave the following

information :

Food Rent Clothing Fuel Misc.

Expenses 40% 20% 15% 10% 15%

Prices (2010) 100 40 60 20 50

Prices (2012) 150 60 75 25 80

What changes are seen in the cost of living

figures of 2012 as compared with the 2010 ?

¥Íßæ / OR

·¤æÜ Ÿæð‡æè @Øæ ãUôÌè ãñU? §â·¤æ ×ãUˆß SÂcÅU

·¤èçÁ°Ð

What is Time Series ? Explain its importance.

§·¤æ§ü / Unit-V

5. (a) ¹ðÜÙð ·ð¤ Âîæô´ ·ð¤ âæÏæÚU‡æ Âñ·¤ ×ð´ âð °·¤

·¤æÜæ Âîææ Øæ °·¤ ÕæÎàææãU ¹è´¿Ùð ·¤è @Øæ

ÂýæçØ·¤Ìæ ãñU?
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What is the probability of drawing a

black card or a King from a pack of

ordinary playing cards ?

(b) °·¤ ÍñÜð ×ð´ x âÈð¤Î ¥õÚU w ·¤æÜè »ð´Î ãñ´ UÐ

ÎêâÚðU ÍñÜð ×ð´ z âÈð¤Î ¥õÚU x ·¤æÜè »ð´Î ãñ´ UÐ

ØçÎ °·¤ ÍñÜæ ØÎë‘ÀUØæ ¿éÙ·¤ÚU ©Uâ×ð´ âð °·¤

»ð´Î çÙ·¤æÜè Áæ° Ìô ©Uâ »ð´Î ·¤è âÈð¤Î ãUôÙð

·¤è @Øæ ÂýæçØ·¤Ìæ ãUô»è?

A bag contains 3 white and 2 black balls.

An other bag contains 5 white and 3

black balls. If a bag is chosen at random

and draw of one ball is made. Find the

probability of that ball being white.

¥Íßæ / OR

(a) A {®' ×æ×Üô´ ×ð´ âˆØ ÕôÜÌæ ãñU ¥õÚU B

|®' ×æ×Üô´ ×ð´ âˆØ ÕôÜÌæ ãñUÐ °·¤ ãUè Ì‰Ø

·¤ô ·¤ãUÙð ×ð´ ç·¤ÌÙð ÂýÌèàæÌ ×æ×Üô´ ×ð´ ßð °·¤

ÎêâÚðU ·¤æ çßÚUôÏ ·¤ÚUÌð ãñ´ U?

A speaks truth in 60% cases and B 70%

cases. In what percentage of cases are

likely to contradict each other in on

stating same fact ?
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(b) ·ý¤×¿Ø @Øæ ãñU? ·¤ô§ü ÌèÙ çÙØ× ÕÌæ§°Ð

What is permutation ? Explain any three

rules.

———
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